1.51
0
. X P
1.0 . "3
® 4 ’ Y - _2
: §
0.5 U R e
' e & ® a3 e s o % -4
— ° s y LS gd*
- v, 2 YR 0 —
— 0.0 3 .‘.o % Sadle 3*°% 6
> 3
P » .. ‘e . -8
—05 Feec s ¥ .:. S oy 1S
o8 o 3 v L ®
»: F PR TS 2 -—10
~1.0 3Py
—-12
—1.51 | ___EngineeringCameraFrame
-1.0 -0.5 0.0 0.5 1.0
X (m)
s HG pedestal std [ADC]
*» 34
1.0- . :O:..ff:}‘ i »
se
........ .} .i ..: .’..
05 Sodte o PN} ?o, 32
. o.. .Oi."....“ ..E. e
. % X1 e o‘:.
— $. 1 ® e ..,. ..1.'F
e { # o .a.i. 333 3 i
ATVl a 30
~ OO_ :.:.$.p$tf...‘.$ }%:..t
> :‘“00..0 :::‘1 ..’.o ..};
v ] ®
-0.5 .J.'%. PR S e A °}°‘.,’,‘... -28
P .{ .i, :2. ® ;“ 8
by I
—~1.0- R 26
' v .’ ,
—1.5- | | EngilneeringCIameraFrzlame 24
-1.0 -0.5 0.0 0.5 1.0
X (m)
B HG Median -7.30, std 2.18
100 A
80 1
0
¢ 601
o
40 A
20 -
O_
-15.0 -12.5 -10.0 -7.5 -5.0 -2.5 0.0
HG pedestal
120 1 BN LG Median -5.88, std 1.86
100 1
80 1
0
g
40 -
20 -
O_
-12.5 -10.0 -75 =50 =25 0.0
LG pedestal

Run 11992, integration on 12 samples
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Run 11992, pixel O
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